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1 Sol  usi
ve by using Laplace transform techniques: y'=3y'+2y=e3y0)=1 y'(0)

2 Fi
Ind the Laplace transform of the triangular wave of period 2a given by
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| f& ={
Express the following functio i g=r< 2q
3 bearE o g ion in terms of the unit step function and hence find its Laplace (7] )
1, O0<t<1 3
f®=32t, 1<t<2
S 3t, 2<t<3 !
4 |Using the convolution theorem find the inverse Laplace transform of ————————. [7]] O
(s24+1)(s2+9) [
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1 [Solve by using Laplace transform techniques: y"'=3y'+2y= e3t,y(0)=1y'(0) = —1.[ [8]/ . ] J
|
B3l )1 )
2 Find the Laplace transform of the triangular wave of period 2a given by [7] 2N .
t, 0<t<a | 3
f(t)—{Za—t,a<t<2a _ |
Express the following function in terms of the unit step function and hence find its Laplace | [7]] ¢ 7
transform 3
1, o<t<l1
F() ={2t, 1<t<2
3t, 2<t<3 o |
— | . f [I O
Using the convolution theorem find the inverse Laplace transform o GZrD(5%+9) / i
4




. . 2 .
Find the inverse Laplace transform of (i) ~~—(5 = ——L {71 | col .
s5 52+65+13 )
Find the Laplace transform of [7] | COl
(D) e™(sinSt sin3e () 1zcosae 3
t
~ 0 ol P
Show that [ * ¢ =2t 5in 3¢ q¢ = 12/169 using Laplace transform. (71 | €O 13
Find a Fourier series (o represent f(x) =x? in -z <y <m. [71 | cO2
[3
e ]
s [ §2-1)2 71 | COI
Find the inverse Laplace transform of (i) (——) (i) 71 2
53 524+65+13 2
6  |Find the Laplace transform of (71 | COI
(i) e~2tsin5t sin3t (i) 1—_9?5—3t 3
7 [Show that fooo te ?'sin3tdt = 12/169 using Laplace transform. (7] | €Ol 3
8 IFind a Fourier series to represent f(x) =x?> in -wm<x<un. (7] | co2
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